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3. Attempt any four from the following :—
(a) Regression line of y on xis 3x — 2y - §=0andthatofxonyis8x—-3y-44=0 §
Find (i) Coefficient of Correlation between x and y (i) Mean values of x and y.
(b) Calculate Spearman’s Rank Correlation coefficient for following data. e

b { 42 | 40 | 52 | 57 | 38 | 42
y | 102 | 100 | 105 | 103 | 110 | 105

(c) Define Correlation and explain the method of Scatter Diagram for decidingthe 5

type of correlation.
(d) Calculate Product Moment Correlation from the following data : 5

Y (x-R)y -¥) = 28; ¥ (x-XF = 28; 3 (v -y) =42
(e) The following data relates the Age of husband and wife. Estimate the age of 5
wife when husband is aged 23.

Husband Wife
Mean Age 27 years 23 years
Std.Dev. of age 3years 2 years

The Coefficient of Correlation r = 0.93

4. Attempt any four from the following :—
(a) What is Time Series ? Describe the components of a time series with suitable 5

examples.
(b) Calculate the Cost of Living Index for the year 2004 by family budget method 5

from the foliowing data

Group Price in 2000 Price in 2004 | Expenses on
Food 100 110 40%
House- rent Bh 25 15%
Clothing 80 100 20%
Fuel 40 60 10%
Miscellaneous 50 Bb 15%
[ TURN OVER
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(c) Fita straight line trend by the method of least squares and hence estimate the

¥

3

sales for 2010 from the following data :

Year

2005

2006

2007

2008 | 2009

Sales

11 15

12

13 19

QP Code : 04818

(d) For the following data construct the Fisher's Price Index Number :

2014 2016
Commodity | Pricein¥ | Quantity | PriceinT | Quantity
A 4 10 5 12
B 3 8 6 10
Cc s 8 3 9
D B 4 8 5

(e) Find trend values by 4 yearly centered Moving averages method :

Year

20086

2007 | 2008

2009|2010

2011 [ 2012

2013

2014

2015

Export

16

20 | 25

32 | 40

48 | 56

64

70

75

5. Attrmpt any four from the following :—

(a) An unbiased coin is tossed 4 times. What is the probability of getting i) 3 heads,

(Il) at least one head.
(b) If X is a random variable following Poisson distribution with relation
4P(X =0) = P(X = 1) Obtain P(X = 3).
(Given e =0.0183)
(c) Enumerate the important properties of Normal Distribution.

(d) If the weight of 10000 soldiers in a regiment is normally distribution with mean
72 kgs and standard deviation of 5 kgs. Find the percentage of soldiers with

weights between 70 and 77 kgs.

(Given area under the standard normal curve between Z=0and Z =+1 is

0.3413 and between Z=0and Z = 0.4 is 0.1554).

(e) The average number of phone calls per minute in a call center is 4. Find the

probability that during a specific minute, the number of calls is (i) only 2
(if) less than 2.
(Given *=0.0183)

21B78D2FTE4B051D23199DFD41CBD22C
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(3 Hours)

N.B. (1) Allquestions are compulsory.

(2) Figures to the right indicate full marks.

(3) Use of simple calculator is allowed.
(4) Graph papers will be provided on request.

Section|

1. Attempt any four from the following :—

QP Code : 04818

[ Total Marks : 100

(a) Find derivative of y with respect to x. 5
() y=4x"—logx + \Jx
(i) y=(x+e" (logx —10)
(b) The total cost function is given by C =x® + x + 10. 5
Find the average cost and marginal cost when x is 20.
(c) Examine the points of maxima and minima for the function f(x) = x* ~ 6x°+9x. 5
(d) If the demand function is given by D = 15— 4p + p* 5
Find the price elasticity of demand when price: s 5.
(e) The demand function of a commodity is given by p=13+D - D2 5

Find the total revenue and marginal revenue function.

2. Attempt any four from the following :—
(a) A principal amounts to T 11,880/- after 4 years and to T 14,040/- after 7 years. 5
Find the principal and the rate of simple interest.
(b) Amit keeps a fixed deposit of ¥ 25,000/- in a bank for 3 years. If the rate of interest 5
is 10% per annum compounded annually, find the total amount he will receive at
the time of maturity after 3 years.
(c) Bhavin promised to pay Ketan ¥ 3,66,025/- after 4 years. If the rate of interestis 5
12% per annum, find its present worth.
(d) Find the amount at the end of 1 year of an annuity of ¥ 5,000/- payable at each ]
quarter with rate of interest 12% per annum.
(e) Rehan takes a loan of ¥ 30,000/ to be repaid in one year at 9% per annum by 5
reducing balance interest rate . Find the Equated Monthly Instalments (EMI).

21B78D2F7E4B051D23199DFD41CBD22C
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Please check whether you have got the right q

N.B:

i e e

a. horizontal
c. vertical

c: both aandb
d. neither anorb

a. uniformity
c. both a and

[Time: Three Hours]

All questions are compulsory.

All questions have internal choice.
Draw neat diagrams wherever necessary
Use of simple calculator is permitted..-
Figures to the right indicate full maﬁ?&

b. electricity charges
d. all of the above
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X. Investment to replace obsolete equipment is generally done for
a. expansion of production capacity
b. expansion into new markets
c. diversification into new production lines
d. none of the above

xi. Payback period method is more suitable to 7o
a. the short run b. the long run
c.bothaand b d. neither a nor b.

A project is profitable if the IRR is
a. greater than the market rate of interest
b. less than the market rate of interest )
c. equal to the market rate of fnterest AY

d. all of the above

Xii.

1. B. State whether the following statehufn{' are Tme'm‘false _(Any Ten). SRS 10
i. The necessary condition for profit maktwi‘ahon is that MC is equal to MR, a
ii. The equilibrium price of the monopohst'ls alwavs hngher than that ofthe Fm in perfect
competition. . . )
ii. The monopoly firm is a pnc!: ma[aer, OLRF
iv. The demand curve fora ﬂrm in"honapqlistlc sompetmon sswrticat,,:- £
An oligopoly market has only @nf ellbr' g AV S

viii. Full cost prltlﬂﬂ‘p@fﬁéiiﬁﬁiﬁﬁ d p{pﬁt N o
ix. Multiple produtt‘ i ng.isbased,on pre’dui:t relatlonshm_

2
08
07
b : Jutlibriur I:Y‘tbe ﬁrm and mdustry in the long run under perfect competition. 08
'D. Read'the paragr-aph elow and answgr the following questions. 07

' .Mwe‘fhan 90% o ,,rs&nﬁl mmputer users in the world use the Windows Operating System. Thls
s ensurgdby barr ie rstd em:w &uch as heavy advertising and frequent introduction of new variants
of the soﬁw‘aﬂ! ére’ arenoother close substitutes of the Windows Operating System.
‘ Narﬁe{hi: maffcet struttu re being described in the paragraph above.
escribe the ¢ characterlstlc features of the market identified by you in question(i)

Attempt and 8.or Cand D
il Dlsr:uss sglling costsas a feature of monopolistic competition. 08
VB Using a diagmmwplaan why prices are rigid in oligopoly. 07

2 TURN OVER
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In Mumberg there are few sellers who are dominant firms in ;he el
remaining sellers make thelr decisions on the basns of deCIsiQns taken b thgd

theory. :
i)  Name the market structure being described nfkhe para_gmph above. . .
i)  Describe the characteristic features of t két‘idetmﬁed byya' rrqueshon (1}

Attempt Aand B or C and D

. Describe the conditions under which pnce d&acrxm?nahq FSPOS’S _ ie 08
. Write a note on marginal cost pnceng 07
. Explain the multiple product pnclngjmethod At 08
. i} Exarnine the merits and demems ﬂfﬂne fm}wcos;pdcmg ‘method gt 07
ii) Assummg a desired mark-upraf‘im ’f‘hw‘aragé Varfabte cqst i‘s ¥ 1 average fixed cost is
AttemptAandBor C and D, .
. What is capital budgetmg? Explam its. . 08
. Write a note on the. Nef. sent‘\fatﬁe netho 07
. Explain the IRR mathad. 08
. Inthe foliowmk table a 07
inflows. Cal;;tﬂate thezpayh-
Annual Cash Flow
7,500
4,000
7,500
10,000
hﬂft‘ runin perfect competition under conditions of 10
10
20
TURN OVER
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Q.P. Code :04937
[Time: Three Hours] Lo i WA ‘f"{Marks:;lool
Please check whether you have got the right questlon paper
N.B: 1. All questions are compulsory.

2. Figures to the right indicate full marks
3. Answer to each question must begin on a new page.

Q.1 A) Fill in the blanks with the appropriate option given in the bré:c'i(e't:‘(aay_,].-O)\ i : ' G : 10
1. Following is an example of service -—--—--—-——(insurance; bread, ear)
2. Goods and services are -------—----—-( same/different/simple) ‘
3. Consumers expect -=--====~---- service from the service provider (Quick/delayed/improper)
4. A Store layout must offer -—-—---—to the customers (Inconvenience/Problem/convenience).
5. B2B stands for --=------- online transactions (business to better/busv to busy/business to business)
6. KPO stands for --------(know point outsourcmg/l(nowledge point outsourcmg/knowledge prOﬁess
outsourcing) :
7. ATM stands for ----=------ (Automatic time monev/Automated teller Machme/Auta tell Mcmey)
8. In debit card, the amount gets------------- from the bank balance of the.customer.
(increased/deducted/added)
9. E-commerce -----------—- cost in the Iong run (mcrease/reduce/does not lmpact)
10. ----------is an element of !oglsttcs(Transportatton/dlscounts/promotaons)
11. E- commerce facilitates interaction between the customer and the organizations via -—--—---—
(internet/store/bank)
12, -------—--—-are those cards which are used by the customers wnhout ha\nng a bank account.
(credit/Debit/Transit) : S
B) State whether the foHowmg statements are true or false: {any 10) 10
1. Services sector play an important role in the growth ofa natlon
2. When customer expectations are met, customer is dissatisfied. -
3. There are no chalienges faced by serwce sector. '
4. Local kirana storeis an example of unorganized sector.
5. Vegetable vendors on the footpath are an example of organized sector.
6. Franchise isa contract between two parties from the same or different country.
7. Foreign direct investment in organized retail sector does not help in its growth.
8. ATM card facilitates withdrawal of cash fram the bank account anytime.
9. Logistics helps in moving a product or service from consumer to manufacturer.
10. Indians prefer to enjoy the touch and feel shopping experience which is absent in e-retailing.
11. The B2B transactions increase the distribution cost.
12. There are no cases of fraud in the case of e-commerce transactions.
Q.2 A) Define services. Explain its characteristics. 08
B) Explain in brief the elements of service marketing mix 07
ot : e s OR
€) Describe the process involved in delivery of services. ‘- 08
D} Elaborate on the scope of services. 07
. L P.T.O
1

298CDB60CS9CT7F217A65538292603385



Q3

Q4

Q.5

Q.6

Q.6

Q.P.Code :04937

A) Explain the factors responsible for the growth of retailing in India.
B) Describe various non-store formats of retailing in India.
OR
C) Explain the different store formats of retailing in India.
D) What are the various activities involved in mall management?

A) What is meant by internet Banking? Explain its advantages. fia
B) Define debit card? Discuss the merits and limitations of a deblt card
OR :
C) Explain the advantages and disadvantages of credit card.
D) What are the challenges faced by Logistics sector in India?

A) What is E-commerce? Explain its scope. :
B) Elaborate on the various functions of E-commerce.

‘ OR !
C) How is on-line marketing research beneficial to lnd1an compames? =
D) Write a note on Business to Consumer (B2C) online transactmns '

A) What is Business Process outsourcing? Explam its advantages and dlsadvantages.

B) Explain the guidelines to be kept in mmd for planning store design and layout.
; : OR
Write short notes on (Any4) ;
a) Resource Planning.
b) Legal process Out,sourcmg
c) FDI in retailing.
d) Service Development cvcle :
e) Retail franchising.
f) Privatization of Insurance Sector.

298CDB60CS9CTF217A65538292603385
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(3 Hours)
Please check whether you have got the right questiqg.b
N.B. (1) Strictly avoid resorting to any unfair means during th
(2) Figures in brackets to the right indicate full marks (ﬂg@y\éﬁs
(3) Working notes should form part of your answers. > "’s@"’ 0
(4) All six questions are compuslory, although, th%‘ﬁ @é}v(a

i)

questions 2 to 6. DS
(5) Use of simple calculator is allowed. N
SR

3
1. (a) Fill in the blanks with most appropriate w@ﬂi‘%

(i) Opening balance of Petty Cash is W%%‘
(ii) Goods Sent to an consignee for

(iii) Good sent on consignment is
(iv) Goods costing 2,00,000 wepbé” E(E‘ 73\ f
of the goods will be T E P ﬁ\’ ‘:':\i"ﬁ% 5, c i

£

———gﬁﬁr‘?—&@' VoA & 75
(v) Ownership of the 80033’@@ @W@ %

(vi) Proforma mvoice |s
{vii)

(viii)

nch Accouting.
incurred,

(ix)
(x)

(i)
(xii)

‘y ‘\F-' '\"’D’F ‘. ’k‘},‘(gl

L
e oy
Sk

f W@rﬁt@alse (any 10) :— (10)
"QF’W Q&-‘ﬁn WW@%WNHUM
‘\w 4 5

;j'é&ors Account

ﬁ\ﬁha@@ r and consignee is that of Principal & Agent.
gm@%&“@sjan, bad debt loss is borne by the consignee.

aﬂﬂiﬁa@é’“"

W rs is not recorded in Branch Account.

m“{WS on customers for supply of goods and expenses.
qﬁ;&rs system, Branch Stock account is a real account.
i\eed not be consistent for deciding the stock on the date of

L4
.A

[ TURN OVER
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& aﬂ.w.fwn.
&

m.

£

{2 58,

year ended 31% March 2017 :
Receipt
To Balance b/d
To Cash Sales
To Debtors
To Bills Receivables A /c
To Interest Received
To Loan received

(a)

Furniture was purchased

d during the year ¥ 400/-

re

Loss Account for the year ended 31% March, 2017.

on 31% March, 2017.
€S are necessary to substantiate your answer.

2

[

OR

[ TURN OVER
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4. M/s Diamond Cements Ltd. of Nagpur consigned to Suyesh Brotheps‘
bags costing ¥ 80/- per Bag. M/s Diamond Cements Ltd. g'

Suyesh Brothers sent an Account sales which shows as:
(1) Cash Sales of 4,000 bags @ T 95 each.
(2) Expenses paid by Suyesh Brothers were :
(a) Godown rent ¥ 2,000/-;
(b) Selling expenses T 6,000/-.
(c) Suyesh Brothers remltted th

4.
the undermentnoned terms and cogﬁiﬁ;@ 54 it
(a) Supplied cycles to be soﬁ@tﬂ OV SE
(b) Ganesh cycles an authqﬁ;ed@aﬁgf “Chatidr tled:to & commission of
12.5% on the mvonceﬁlog ari& 5%t ai urpltﬁ“ém&nr}(‘ ealized.
(c) On 1% January, qui’@ 1,500 bi{t égwb ign satdﬁqh@h cyt‘les of Chandrapur.
Each bicycle cq§t:mg Rs; ﬁﬁ,{) s{qgmg ﬁe{gﬁf aﬁ éﬁ *at;i'@b/ each.
(d) A bill for T Z&W Eiy@aw G" { e_s jaguﬁ»as an advance.
(e) Before 31?0;{;:%&# A4 cés es at an average price of
Rent, Insurance etc. T 3,000/
ST K ‘towards the balance.
e (Ei?’@.‘!n’t ‘ :ﬁﬁgfgeg%-ﬁétﬁoyﬁ};%p{iﬁbods sent on Consignment Account
5. /e Hm;afﬁ ‘part of stock of M/S. Fireprone& Co. Stocks (15)

nBer 2016, a fire ajor
3 20,000/ gﬁmq €, s,afya“geaﬁuﬁ‘notfsavéﬂd their stock ledgers. A fire insurance policy
8 yas,m“fame undé’mﬁgb thw r:{suré@wa%;k 12,00,000.

Osare sigfh fl'jb {duew’i;ﬁ data frain the available records :
X a[ W

@ﬁ‘r\éS Wﬁﬁﬁgﬂmlﬁg the period April to September, 2016 amounted to
i )}}tz’ aﬂéﬂﬁgﬁh@\&ed that goods of the value of ¥ 9,00,000/- had been
Hegs. bé\%l@ the date of fire.
3 ‘iﬂ'Aﬁrﬁ 2016 was T 6,60,000/- which was over-valued by 10%.
s*h ’Ap“m 2016 and 30" September, 2016 were Z 65,00,000/-.
i Gro §':s~['fl*p§_\§~ g}t‘e was 33 '/, % on sale.
Pﬁ‘;pare a«atatém%@mf‘ SUTal

m‘Bﬁfsﬁce claim.
OR

[ TURN OVER
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extent of ¥ 4,50,000/-.

6

The following particulars could be obtained from the bookg{éiﬂcré&!d?; '

s a\- :;.“

Particulars

Balance as per Balance Sheet as on 31-1.
Stock (as undervalued by 10%)
Debtors for Goods

Creditors for Goods

Cash received from debtors S
Cash Discount allowed to
Goods returned by debt&?@ﬁ
Cash paid to credators( i \"’C&
Cash discount fromwﬁd{t}\

£ A “‘ 2 L
Goods returned é@e itq;s X I
ST LT AN A G
Cash sales ;:if:— S SO AN Y SRR
k, 0-? - g ¥ Q N
s

S "353 A oS NS ¢

o N T K AN AL

Goods dona\f!;&(g{; 1}\ OB L AR
\..,, o g ot R

Debtors @*édda\é?%g gﬁ _31 S %
Credltqﬁ'&{b{cﬁ, a5 % Q"«‘%&@B -2 ﬁﬁ? L,

1 1IC1 A0 A AT IIC O CcAQcC1c

{10)
(10)

(20)
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‘ QP.Code:03755
[Time: Three Hours] : [ Marks:10¢
Please check whether you have got the nght questwn pape
N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks.
Q.1 a) Explain the following terms in 2-3 sentences (any 5) : NG R 10
1. Online interview : R R L S ST
2. Closed questions in an interview g
3. Quorum (PP R ‘ P
4. Agenda SRR B G AT e A
5. Fliers CEl i ; ;
6. Group dynamics
7. Standing committee
8. House journal ] _ i 3 S ;
b) Match the following : e F T R O St ol S 05
1. Group discussion P a Gpan House ' :
2. Resolutions Mool interacnonat t‘ne tune ofleavmg an. ofsaf,llzatlon
3. Internal Public Relations - PRy Techmque for seIeCtron of a candida‘te
4. Skype S0 o diDecisions taken ata meetmg
5. Exitinterview ST - Vldeo*chat el e TSR
Q.2 Write short notes on; |any_m } : ' : 20

s

Preparation to be made hy a canmdate befqre a select:.o’n tnterview
Appraisal interview - &7 o
Role of the chairperson ina meetmg
Advantages and dlsadVantages Qf meefmgs
Grievance mterview e a1

WASP: technrque of couductmg an mtemew

Q3 Answer the followmg questions fggy,mﬂ_ A 20

b B ;._Def' ne Public Relations’, Discuss the measures taken bv Public Relations Department to influence
extemal publrcs of an orgamzatron ‘
2. What ¢ are confereﬁees? Drscuss the advantages and disadvantages of conferences
Def'f es”, D

B L0k DD

Q.4

: .thell‘ complamt and cla:m letter askmg for replacement of goods.
. » Wrrfe asales Ietter promoting any one of the following products:
: L-:.l) Foaly ¢ washmg machine
i) A new brand of toothpaste .

(P.T.0)




Q.5

Q.6

Q.7

Q.P. Code 03755

adequate compensation.

5. You had applied for a passport two months back and have nat recewed anv updates about it. Wrcte an -
RTI query asking about the status of your apphcation, the process ofi lssumg a passpOrf and the time
taken for the same. AT 3 : :

Draft a Business proposal to be sent to Prim and Proper: thshmg Schoof-for starting a Bamc computer s 10

certificate course in their campus on a revenue sharmg bas&s S,

After receiving many complaints from students: and teachers abeut the coﬂege canteen foad of Excelient
College, a committee of students and teachers was’ set up by the Prancrpal to studythehygnene Of the college
canteen. ‘

Draft the covering letter and committee re;mrt malgng suﬂable tecommendatnons

Draft the Notice and Agenda of the 5™ Annual Gen al Meetmg of Deepak Fert:llzers Lt& Also draft the 10
following resolutions : ' ' :

L. Declaration of dividend
2. Appointment of Auditor_s :

Summarize the following passage, ; Aol he TR Ry 05

Australian scientists warned drrvers and passengers of new ears that danger )urks within their brand new
vehicles. It is not the soft fabric ar the leather that encases cnmfortab#e bucket seats, or the shining new
dashboard, or the designs of the spoﬂv steenng ‘wheel that harbor the danger. It is the reassuring smell of the
new car that spelts danger The odaur actually contams htgh Ievels of toxic air emissions that can make the
driver and the passengers il s

A research orgamzatson in Austraha conducted a{:amprehenswe research on three cars. Drivers were asked to
keep logs on. haw they feft andreacted to the. plush rnter«:vrs of their cars. The researchers also carried out
observatnons on the reactmns of the dnvers and at the same time interviewed them. The results revealed that
the very. smeil of a new&ar thal enthr‘ails the new ownér ‘contains high levels of toxic emissions. What is even
more aiarmmg is the fact that these tG)(lC emissions are gresent in cars even after 6 months or longer of
leaving the: showroom Anacdetal emdence during the study revealed that drivers were becoming ill when
they dfove their new cars. A iawyer reparied bemg ill with headaches, lung irritation, and swellings for several

- days after collectlnga new car and driving it only for 30 minutes. The Commonwealth Scientific & Industrial
~ Research Orgamzation {CSIRO) is Australia’s mam scientific body. They conducted a research on the toxicity of
; -_'the interior of new cars.over a perrod of two year. Steve Brown, the head of the CSIRO’s air quality control
- rEsearch unit draws parallel betwgen the home and the car. He says, “Just as air inside our homes and work
-place is often more poﬂuted than fhe air outs&de, so sitting in your new car can expose you to levels of toxic
emmsaons that are many times beyond health guideline goals.”
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Q.3A) Elaborate various environmental problems associated with modern agriculture
B) Werite the causes and effects of malnutrition? '

A) Bring out various causes and effects of ozone depletion.
B) Write a detail note on the following:
1) Corporate Social Responsibility (CSR)

2) Green consumerism.

Q.4A) Discuss new types of tourism with suitable examples :
B) What are the positive and negative impacts of tounsm on cufture

OR G

A) Describe the challenges faced by the tourlsm sector of lndla‘ :

B) Write a note on eco-tourism.

OR
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Q1.A. On the outline map of

Please check whether you have got the right questfon paper..

Draw diagrams / maps wherever necessaryr 7 o LI S e,
Figures to the right indicate marks aIIr.n:tet)t m the,questlon,, Kb ST e
Attach the map to your answer papér, ol Sl

QP.Code 05536

[Time: Three Hours]

I questions are compulsory.

Mumbai supplied to you, mark and name the foltowmg

a} An area affected by land slides

b) An air-port

¢} An area of mangrove vegetation
d) The head-quarters of Western Rwhuav

e) Essel world
f) Sealink

g) A pilgrimage centre
h) A parkin South Mumbai

i) A beach
j) Tulsi lake

B) On the outline map of Konkan supp[ied'ta you mark and name the fal{mmng

a) Palghar dlstr:ict

b) A bird sanctuary 2

c) Barvidam. ¢
d) Thane creek
e) Amboli ghat

f) Sindhudurg fmrt ;

g). Jawhar hill statsqn , '-,:} o

h) "Shrwardhan heach < gy §
i) Asite of defqres:at:on 0 the Ratnagm dlstrjct

utre in the Ra:gad dlstnct

-.jj‘}';: : :;A pdgnmage; e

B) DlscuSSVaﬂoUS eﬁ’ects of hazardou:. waste on env:ronment and health.

 (Maisa00]

410

10

10
10

e A) Brmg out the va,rlous stéps taken by Mumc:pal Corporation of Greater Mumbai (MCGM) in solid 10

~ waste rnanagemeht
; "B) Giveadetdﬂcla

npn of sohd waste with suitable examples.
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Frenfbec] Frpeom = fomduinn cgursed
o™ /8/‘947“/2‘”% PESeaN |
;(\Qv o QP Code 04013._ '

(2% Hours) [Total MaTks :

CRlEs e
3 ;

: (1) All questions are compulsory.
(2) Figures to the right indicate full marks.

1. (a) Choose the correct alternative : (any eight) i U S A YR
(i)  Economic liberalization was a bold dems:on by the ane Mm;ster '
( Narsimha Rao, Rajiv Gahdhl ‘Atal - ‘Bihari, Bajpau P
(i) Theterm _________ refers to freedom to busmess enterprlses from excessive
government control. ] T :
( Gloabalization, Liberahzatlorc, Disln\rEStment )
{iit) ~Abolitionof . . |s nmwded under- Artlcle 17 of the indian Constltutron
( Caste, Child Labour Untouchabiht\)) SR
(iv)  Human rights are derived from the prmclpie of _.,_,___;_"Iaw;- P
( Judicial, Natural,” Administrative ) o
(v)  Acid rain is one of the harmful effect of ..___-'__ pollut,ion:.
(Alr Water Soll} R
Gas prrqtects us from UV rays emltted by sun.
( Ozone Carbon diozxide, Nntrogen )
{vii) __._._.,.._ |s a s:tuatlcn in wl’uch two or more partles feel themselves in
Qpposmon &5 . ¢
( Stress, s Confhct Frustration ¥
(viii}..: ____..._.__. re‘fers to behawour that i is mtended to cause harm or pain to others.
: ( Com’hct Pre]ud:ce Aggressmn y
helps 1o deve‘rop the power of concentration.
: ( Physncai exercuse Meditat;on Social support )
(x) Masiow orlgmally ldentafled set of needs.
AN ( TWD Three Fwe ) :

{vi)

(b) Wnte True or False (any seVen) = 7

Sk~ Mlgratlon from rural to urban area is more common in developing countries.
: '(2)“._ T has made communication expensive and complex.

. (3) ~ ‘Human: Rights -have universal application.

(4) ; Underr Fundamental Rights enshrined in Indian constitution all minorities-

wrehglous or »Emgu;stuc groups can set up their own educational institutions.
S 1) Na‘tural environment provides renewable sources of energy.
) Enwmnmentai degardation does not affect marine life. .

[ TURN OVER
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(10)

What is liberalization ? Discuss the advantages of_\\l_iit')_er_ali_ia‘t‘i-n‘n_f

What

2

(7)  Eustress is the term used to describe positive stress

(8) Regionalism causes intergroup conflicts.

(9)  All individuals need not have the same set of needs. & BN S
There should be proper time management so as to avold wbrk overlead

OR

is migration ? Explain the causes of migré’tjbn.ﬂf e L

AR

Discuss the concept of human rights and explam the si*gmfucance of human r1ghts

OR

i

What are Fundamental rights ? Explaln the |mp0rtance of these rlghts to the cmzens of lndna

Explain the impact of environmen’tal"jdég'rgd‘a.tibn Onu; .ﬁumah"i‘lifé. J L

What

of an

Write short nOtES on: (any three)

(i)
(i)
(iii)

(iv).-
v ”‘:;{‘.:

3 &

is stress ? Explain the-"'éé'ijsé§~'of st_tiés;i;-' A

individual. & & 7o
ORY g <

Right to- ConstltutaanaLVremedies :
!mpact af Globahzation on ﬁmplovment
,Components of sustafnab[e development
'\‘;Causes of aggrpsslon : e
Maslow s thgorv of. seif actu _,;"‘:' tion.

TAOB6AB4DD23014BCFEOB70C3D011447

Explain how the agents. of socualuzat:on piay an important ru!e tn shapmg the personality

[ TURN OVER
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